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Q1) Answer any two parts of the following : [2×5=10]

a) What are the necessary conditions which should be kept in mind in product selection?

b) What are the qualities and functions of entrepreneur and barriers in entrepreneurship?

c) What are the merits and limitations of a sole proprietorship firm?

Q2) Answer any two parts of the following : [2×5=10]

a) Discuss those factors which affect the identification of business opportunities?

b) What are the common errors in project report preparations?

c) Describe the concept and structure of an organization.

Q3) Answer any two parts of the following : [2×5=10]

a) What are the types of industrial organization and their advantages.

b) Describe the importance of management in the present era.

c) Differentiate between manager and leader. What are the types of leadership?

Q4) Answer any two parts of the following : [2×5=10]

a) Write detail note on ‘Intellectual Property Right’ (IPR).

b) Discuss about the behavioural science.

c) Discuss about the line oganisation and staff organization.

Q5) Answer any four parts of the following : [4×2½=10]

a) Write short note on ‘Just in time’.

b) Write short note on trade mark.

c) What is trading account?

d) Write short note on Utility of self - motivation.

e) Why human values is needed in work culture?

Time : 2:30 Hours] [Maximum Marks : 50
NOTES :

i) Attempt all questions. All questions carry equal marks.

ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)({hÝXr AZwdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : i) g^r àíZm| Ho$ CÎma Xr{O¶o& g^r àíZm| Ho$ A§H$ g‘mZ h¡&

ii) narjm{W©¶m§o H$mo gbmh Xr OmVr h¡ {H$ do àíZ-nÌ Ho$ XmoZm§o AZwdmXmo§ _| gm§»¶H$s¶ Am±H$‹S>m§o H$m {deof ê$n go {_bmZ H$a b§o& ¶{X {hÝXr AZwdmX Ho$
{H$gr àíZ _| {H$gr àH$ma H$s {^ÞVm h¡, Vmo narjmWu A§J«oOr AZwdmX Ho$ AZwgma àíZ H$m CÎma X§o&

iii) narjm{W©¶m| Ûmam noµOa Am¡a _mo~mBb \$moZ H$m à¶moJ AZw_Ý¶ Zht h¡&

à.à.à.à.à.1) {ZåZ ‘| go {H$Ýht Xmo H$m CÎma Xr{OE : [2×5=10]

A) {H$gr CËnmX Ho$ M¶Z ‘| {H$Z Amdí¶H$ eVm] H$mo Ü¶mZ ‘| aIm OmZm Mm{hE?

~) CY‘r Ho$ JwU Am¡a H$m¶© ³¶m h¡? CÚ{‘Vm ‘o ³¶m ~mYmE± AmVr h¡?

g) EH$b ñdm{‘Ëd dmbr ’$‘© Ho$ JwU Am¡a gr‘mE± ³¶m h¡?

à.à.à.à.à.2) {ZåZ ‘| go {H$Ýht Xmo H$m CÎma Xr{OE : [2×5=10]

A) VËdm| H$s {ddoMZm H$s{OE Omo ì¶dgm{¶H$ Adgamo go A{^OmZ H$mo à^m{dV H$aVo h¡?

~) àmoOo³Q> [anmoQ>© H$mo V¡¶ma H$aZo ‘| gm‘mÝ¶ Ìw{Q>¶m± ³¶m hmoVr h¡?

g) EH$ g§JR>Z H$s AdYmaUm Am¡a g§aMZm H$m dU©Z H$a|&

à.à.à.à.à.3) {ZåZ ‘| go {H$Ýht Xmo H$m CÎma Xr{OE : [2×5=10]

A) Am¡Úmo{JH$ g§JR>Z {H$VZo àH$ma Ho$ hmoVo h¡? CZHo$ ’$m¶Xo ~VmBE&

~) dV©‘mZ g‘¶ ‘o à~ÝY Ho$ ‘hËd H$m dU©Z H$ao&

g) à~§YH$ Am¡a ZoVm Ho$ ~rM AÝVa ~VmBE& ZoV¥Ëd Ho$ H$m¡Z-H$m¡Z go àH$ma h¢?

à.à.à.à.à.4) {ZåZ ‘| go {H$Ýht Xmo H$m CÎma Xr{OE : [2×5=10]

A) ~m¡{ÕH$ g§nXm A{YH$mam| na EH$ {dñV¥V {Q>ßnUr {b{IE&

~) ì¶dhma {dkmZ Ho$ ~mao ‘o ~VmE&

g) bmBZ g§JR>Z Ed§ H$‘©Mmar g§JR>Z Ho$ ~mao ‘| ~VmBE&

à.à.à.à.à.5) {ZåZ ‘| go {H$Ýht Mma H$m CÎma Xr{OE : [4×2½=10]

A) ""ghr g‘¶ na'' EH$ g§{já {Q>ßnUr {bIo&

~) "ì¶mnma {MÝh' Ho$ ~mao ‘o ~VmBE&

g) "ì¶mnma ImVm' ³¶m hmoVm h¡?

X) ñd-A{^àoaU H$s Cn¶mo{JVm na {Q>ßnUr {b{IE&

¶) H$m¶© g§ñH¥${V ‘| ‘mZdr¶ ‘yë¶m| H$s Amdí¶H$Vm ³¶mo hmoVr h¡?
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